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TG /Mathematics

100

el foheq & A (v') Tt Fag s\ET / Tick (v) against the correct option- 10 x2 =20

Tl 24 IR 36 F SYAH GHGED ERT/

The Lowest common multiple of 24 and 36 will be =

(i) 24
(i) 72

9.2, 20 7R 28 FT HE<H THIITAE a1/

(i) 36
(iv) 48

The Highest common factor of 20 and 28 will be -

i 5
(i) 7

(i) 4
(iv) 6

93, A5 WX FIE F G 45 €9 & dl 7 T FUL F G a1 8T / If the cost of 5
meters of cloth is Rs 45, what will be the cost of 7 meters of cloth -

(i) 54
(i) 56

94, 4+5x2HHAFERT / The value of 4 + 5 x 2 will be -

G 18

(i) 11

(i) 63
(iv) 70

(i) 13

(iv) 14

95, 2R3 F HETH THIGECE &N/ The Highest common factor of 2 and 3 will be -

i 0
(i) 2

i) 1

(iv) 3
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96, 49 I 6 F SYAH GHTIEH BT/

The Lowest common multiple of 49 and 6 will be -

(i) 240 (i) 204

(i) 420 (iv) 3 @ 1S 72l

None of these

1 / The Highest common factor of

%I /The Lowest common multiple of 2

97. 18+ 3 x 3 H A ENT/Value of 18 + 3 x 3 -
G 2 (i) 18
(i) 3 (iv) 12
98. 0,1,2,3 AN 4 1 0 g4/ The average of0,1,2,3 and 4 -
G 1 i) 2
(i) 5 (iv) 4
9.9. Al 10 AT 1 Fed 140 €93 & ol 2 T &1 7o fhael 2011/
If the cost of 10 mangoes is Rs. 140, what will be the cost of 2 mangoes -
G 21 i) 24
(i) 26 (iv) 28
9.10. 7+5+2x7HAFERT/Valueof 7+5+2x7 -
i 21 (i) 24
(i) 26 (iv) 28
<k Tl 3t 9fd KR/ Fill in the blanks -
9.11. 1,231\3|'{3<'=FT3TR:|H .................... 21/ The average of 1, 2 and 3 is
912, 12 318 F FETH FATTIAE coovvvrrroeeen
12 and 18 iS .ccecvvuennnes
913. 3x6+4=
T.14. 2 3N 4 F FLTH AT ..o
and 4is .............
915, 9+9x9=
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916, 9-74+2 =i
917. 8+4-2= ..
9.18. 10, 20 ST 30 FI A ................ &1 /The average of 10, 20 and 30 is .................
9.19. 5 3T 6 F SITH THGAA ........oooooeeeeen &1 /The Lowest common multiple of 5

9.20. 40+2x4 = iiriiinns

T - SAiEl fs™ R / Match the correct pair - 5x1=05
921. 5+9-9 (@) 26

9.22. 1373 ® I /Average of 1 and 3 (b)
9.23. 5x5+1 ()
924, 2010+ 1 )
9.25. 9 IR 10 F WexH @Hgaqw,/ HCF of 9 and 10 (e)

T 91 7 fSRAT / Write true or false - 5x1=05
9.26. 3 I 6 FH SYTH GHTIA 6 &1 8 |/ The BCM of 3 and 6 is 6.
927. 6x4-2=12

928. 55+5-5=0

9.29. 23R 4 F1AEd 3 &g | / The average of 2 and 4 is 3.

930. 9-2+6-2=11

fel &Y ST 9%/ Very short answer questions - 5x2=10

N —~ O

9.31. 20, 25 3T 30 F FLH THTEH 1 HIfeT
Find the Lowest common multiple of 20, 25 and 30.

.............................................................................................................................

.............................................................................................................................

9.32. 18 3R 60 FI HETH FHITEAF T T
Find the Highest common factor of 18 and 60.

.............................................................................................................................
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9.33. 7 HiCL FAL F G 210 &, Al 5 H FUL F Hed Fd HifeTq|
The cost of 7 meters of cloth is 210; find the cost of 5 meters of cloth.

9.34. &3 HIT/Solve - 50+10%5+2

.............................................................................................................................

.............................................................................................................................

9.35. Sl HANTA TH TS H FewH FHTE S T
Find the Highest common factor of two consecutive even numbers.

.............................................................................................................................
.............................................................................................................................

.............................................................................................................................

&g AU 9 / Short answer questions - 5x4=20
9.36. a1 3 HEM F1 HHH FEET 1500 €9 20 &1 IH QAN F1 a1 6w & &nm afg
a9 W R @9 @ 2 / Sita pays Rs. 1500 as 3 months house rent. How

much rent will she have to pay for the whole year if the rent remains the
same throughout the year?
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U.37. 15,45 IR 75 F HE<H THIGIAH Sd it
Find the Highest common factor of 15, 45 and 75.

U.38. SYH G Arhd SIS i SHEd Fd S

Find the average of the first five natural numbers.

9.39. AlE 6 TF A F Hed &9 180 &l dl 4 T7 A &l Hed T1d Hifaa|
If the cost of 6 flower garlands is Rs. 180; find the cost of 4 flower garlands.

.............................................................................................................................

.............................................................................................................................

940, TSEC HRWTC / Simplify - 24+ 6x4-10 + 4

.............................................................................................................................
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el IO U/ Long answer questions - 2x10=20

= e

T41. 4TS HS! H Hed 200 T B 100 €99 H el g1 e TS ST el & 7
The cost of 4 dozen bananas is Rs. 200. How many dozen bananas can be
bought for Rs. 100?

.............................................................................................................................

942, 12,16, 24 I 36 F SLAH GHGIE T4 HEXH THITEAH Fd HINT |
Find the Lowest common multiple and Highest common factor of 12, 16, 24 and 36.

.............................................................................................................................
.............................................................................................................................

.............................................................................................................................
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